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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viit)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options. Candidates have to attempt only one of the given
options.

Option I: Analysis of Financial Statements

Option II : Computerised Accounting

Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are
multiple choice questions. Each question carries 1 mark.

Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B)
are short answer type questions. Each question carries 3 marks.

Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long
answer type-I questions. Each question carries 4 marks.

Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long
answer type-II questions. Each question carries 6 marks.

There is no overall choice. However, an internal choice has been provided in few
questions in each of the parts.

PART A

(Accounting for Partnership Firms and Companies)

) Bhim, Arjun and Nakul were partners in a firm sharing profits
and losses in the ratio of 4 : 3 : 3. With effect from 15t April, 2023,
they agreed to share profits equally. Due to change in the profit

sharing ratio, Arjun’s gain or sacrifice will be : 1

(A) Sacrifice i
30
.1
(B) Gain —
30
(C) Sacrifice i
15
.1
(D) Gain —
15

OR
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(i) % qA1 HG FAM: T 2,00,000 TAT T 1,50,000 FHi YSit 6 T TH FH
¥ FEEr § | 31 °, 2023 % gUTd g¢ 9y # A v wr aafia oy
T 17,500 7, A 10% Tk & T ITeh! Uit T A BT
(A) H® T 15,000; #1q T 20,000
(B) & T 8,750; HIq T 8,750
(C) Hs T 20,000; Hiq T 15,000
(D) & T 10,000; Hiq T 7,500

2. T Y o fgued & 09 Pa INGWAT T 6,00,000 qAT SR QI
T 2,40,000 off | ¥fe whgwafai ¥ T 7,20,000 61 s€eA g8 9 T 8,000

A AT 1 T TR T, T S W AT QT g1 gef
(A) = T 1,20,000 (B) ¥ T 1,20,000
(C) = T 1,12,000 (D) ¥ T 1,12,000

3.  IUBYT(A): T« AT T fa=ed gar 7, O AT 1 gEaad TRl g |
FRU(R):  wrEier) i foees "l & = sraE gt g g 2 |

frafafaa 4 9 g faewew =1 =91 HifSe

(A) AN (A) qAT HRO (R) SHT T&l & a7 SRl (R) feped (A) Hi
e A 7 |

(B)  3IehReM (A) TUT HRT (R) GHI TE &, TR HRUT (R) THHAT (A) i
TE ST T 3 |

(C) M (A) TeId B, AAfehd SRUT (R) T&1 B |
(D) 3T (A) T 7, wifehd SR (R) Terd # |

4. () IR/ Aeha /AR IS R
(A)  3791/3R 4t 1 g w58 weot gry feifia fomem mem @
(B) /3R Gt 1 ag ufer frmes fow et sreremest /et

I AT | 3reled feu Mg |
(C) /IR GSf H a8 rfuman s @ frifim @ 2g e
3Hferepd 2 |
(D) 3Tt /SeRefEt grT aTrEdfess 9 § YA < T8 T |
arera
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(ii1) Neeru and Meetu are partners in a firm with capitals of ¥ 2,00,000
and ¥ 1,50,000 respectively. If the firm earned a profit of ¥ 17,500
for the year ended 315t March, 2023, then interest on capital
@ 10% p.a. would be : 1

(A) Neeru T 15,000; Meetu ¥ 20,000
(B) Neeru T 8,750; Meetu T 8,750
(C) Neeru T 20,000; Meetu ¥ 15,000
(D) Neeru T 10,000; Meetu T 7,500

2. At the time of dissolution of a firm, the total assets were ¥ 6,00,000 and
outside liabilities were < 2,40,000. If assets realised ¥ 7,20,000 and
realisation expenses of ¥ 8,000 were paid, the profit or loss on realisation

will be : 1

(A) Loss T 1,20,000 (B)  Profit ¥ 1,20,000

(C) Loss < 1,12,000 (D) Profit ¥ 1,12,000

3. Assertion (A): The court does not intervene when dissolution of

partnership takes place.

Reason (R): Dissolution of partnership takes place by mutual
agreement between the partners.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.
(D)  Assertion (A) is correct, but Reason (R) is incorrect.

4, ) Nominal/Authorised share capital is : 1
(A) that part of the share capital which is issued by the company.

(B) the amount of share capital which is actually applied for by
the prospective shareholders.

(C) the maximum amount of share capital which a company is
authorised to issue.

(D) the amount actually paid by the shareholders.
OR
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(ii)

(i1)

U8 woE e R o aREERE W U it g9R 98 g,
HEATd &

(A) T RO

(B) 3IRfea woda

(C) 3 FUA T R
(D) N RO

A9 3R fomeT T &0 U A2 § 1 4 : 3 TJUTd H ATH-gTH 1
oo @ & | 7 e A o 3 fore el o A %
w1 4 yaw fem mn | fewR 3 femer 9 fofw foen fp 9 wfosy o
AT SUeR-SeR AT 8 fawmioa i | fepeit 3R famat 61 =

AT B
A 1:1 B) 4:3
(C) 11:3 (D) 3:11

JroraT
TS, Ged 3R O T BH H AR B qAT 2 : 2 ;1 % AU
T AI9-gT T fou oid 8 | 91 1 o9 & 9T & &9 § Jfd a9
A T 40,000 HT TR S TS | 39 FHRO g3 (ohE] Wt FHH B TS gA
g8 fopam ST@m | 31 W, 2023 1 GHT B o1l 99 H i ®H i
A T 1,60,000 &, A TS GRT 984 61 I Iredt HHt gt

(A) T 8,000 (B) ¥ 40,000

(C) T 48,000 (D) T 4,000

6. Wewmn fafies 9 S fafiegs &t = 15,00,000 6t uftamafei aun
T 2,00,000 T AT 1 ARTET T 12,60,000 % TEAT I oI T a1 |
I HEHIA B3 T d Tod I YA T 100 TAH % 11% RIHHAT 1 10% T
W fifera swees foman stam | fnifea sromos <6 g gt

(A)
()
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13,000 (B) 12,600
10,000 (D) 14,000
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(i)  The debentures which do not have a specific charge on the assets of
the company are called : 1
(A) Redeemable Debentures
(B)  Unsecured Debentures
(C)  Zero Coupon Rate Debentures
(D)  Non-Convertible Debentures

5. (1) Kishore and Bimal are partners in a firm sharing profits and
losses in the ratio of 4 : 3. Nand is admitted as a new partner in
the firm for % th share in the profits. Kishore and Bimal decide to

share profits and losses equally in the future. The sacrificing ratio

of Kishore and Bimal will be : 1
A 1:1 B) 4:3
(C) 11:3 (D) 3:11

OR

(i1))  Raju, Sohan and Tina are partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Tina is guaranteed a minimum

amount of ¥ 40,000 as share of profit every year. Any deficiency

arising on that account shall be borne by Raju. If profit of the firm
for the year ended 315t March, 2023 is ¥ 1,60,000, Raju will bear a

deficiency of : 1
(A) < 8,000 (B) < 40,000
(C) < 48,000 (D) < 4,000

6. Maharaja Ltd. took over assets of < 15,00,000 and liabilities of
< 2,00,000 of Dolphin Ltd. for an agreed purchase consideration of
< 12,60,000. It was agreed that the purchase consideration will be paid
by issuing 11% Debentures of ¥ 100 each at 10% discount. The number of

debentures issued will be : 1
(A) 13,000 B) 12,600
(C) 10,000 (D) 14,000

67/2/3-12 Page 7 of 39 P.T.O.
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10.

e fafies 3 T 100 IF + 6,000, 8% Fo9i 1 Frfma = 96 fd =woraa
T fRaT | 8% U9 W T S| B ¢

(A) T 5,76,000 (B) ¥ 24,000

(C) T 6,00,000 (D) < 60,000

(i)  Ifc T 100 % Tk I/ BT 8O (forfeit) H foam mm & ™Tg w = 70
ST YA TR ST gl 7, dF 59 fohae =Idad Hedt W qA: fifia fopam

Hohdl @ ?
(A) ¥ 100 B) T30
(C) =<T170 (D) < 130

YT

(i) 9IfC T 10 Ueh /AT T B0 (forfeit) T foram mm g 5@ = 2 ufa
2731 /3RR Hiftem w it fohem o o qen o w = 8 (Shiftem afza)
T T I qYT IR /IRRATE 3 T 6 (Hftm Afga) w1 A W fen
off, Tl 791 /3RR IS @It 19 B
(A) T 109¥ (B) <449
(C) T 897 D) <T64

1 379, 2022 1 7 fAfeg § T 100 I8 % 30,000, 10% OIS <1 8
10% 92 W Tha1 | 31 9/, 2023 I THT 814 oA 99 | RO W e SN

T FoT T BN
(A) T 2,70,000 (B) ¥ 3,00,000
(C) T 27,000 (D) < 30,000

qE 3R TR Tk ®H § HEGR 8, s dof ™Y A% T 1,20,000
T 80,000 & | TS I BH & wrelt @i | % T & oI Ush U ET2eR & ®9 d
wou oo T | S 319 G5t %6 ®9 H T 1,00,000 ART | G % YA W BH
&1 @nfa gt

(A) % 5,00,000

(B) ¥ 2,00,000

©) < 3,00,000

(D) = 1,00,000
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10.
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Misha Ltd. issued 6,000, 8% Debentures of ¥ 100 each at ¥ 96 per
debenture. 8% Debentures Account will be credited by :

(A) < 5,76,000 (B) ¥ 24,000
(C) < 6,00,000 (D) ¥ 60,000

(1) If a share of ¥ 100 on which ¥ 70 has been paid is forfeited, then

at which minimum price can it be re-issued ?

(A) < 100 (B) < 30
(C) T 170 (D) < 130
OR

(ii)) If a share of ¥ 10 issued at a premium of ¥ 2 per share, on which
T 8 (including premium) has been called and < 6 (including
premium) has been paid by the shareholder, is forfeited, then
Share Capital Account will be debited with :

(A) <10 B T4
(C) <8 D) T6

On 15t April, 2022, Mega Ltd. issued 30,000, 10% Debentures of
T 100 each at a discount of 10%. The total amount of interest due on
debentures for the year ending 315t March, 2023 will be :

(A) T 2,770,000 (B) < 3,00,000

(C) T 27,000 (D) < 30,000

Manas and Ranvir are partners in a firm having capital balances of
T 1,20,000 and T 80,000 respectively. Sanju is admitted as a new
partner in the firm for %th share in future profits. Sanju brought
% 1,00,000 as his capital. The goodwill of the firm on Sanju’s admission
will be :

(A) ¥ 5,00,000

(B) < 2,00,000

(C) < 3,00,000

(D) < 1,00,000
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11. 3¢ "eeri & 4ol @ Tt §, @ f=falead § @ - 78 &1 o arEieii
% STt @Tal H g7 fohan S ?
A) AW
(B)  dSit %I 3@
(©) arfafed gt e
(D) YSft 1 SR Ay

12. 3% (A) : T ATEE ®H H T ATSIGR Jo®l R Sl s T Hgrd TR TG
T 9] 9§ AT 8 |

FROU(R):  Ueh ATICH B H TIT AR Yoy W AR ®H <l afEmf=
qAT T | W o BT SRR Tg0T hidl B |

Trafaiaa 7 9 92t farew =1 =@ il

(A) TR (A) TUT RO (R) ST T&l & 99T SR (R) 0T (A)
g ST 2 |

(B) AU (A) TUT SR (R) HI TE 8, TAfeh1 HROT (R) HAheT (A)
e ST T 7 |

(C) e (A) Toid &, Wik IUT (R) HEl 2 |
(D) AR (A) T &, Wl HRT (R) TeTd & |

18. (i) 1 SHedl, 2023 w1 Tsh HECR AMMYS F ®H i T 3,00,000 T ATH
o e | Areerl wweia i Squfedfa 9 31 A, 2023 I wHT BH

T 99 ok foTu 3RO O SIS ki R B

(A) < 18,000

(B) T 4,500

(C) ¥ 9,000

(D) I3 = A&l fem Smam

srraT
(i)  Ife I TSR ek fomTd o o=d § Uk FAfvaa Ui o1 8w

2, ANBO R HEN o foIU AT 99T feRm ST@ |
1

(A 9 ® 75
1

C) 6 (D) 45
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11.  Which of the following items cannot be recorded in the capital account of
partners if the capital accounts of partners are fixed ? 1

(A) Drawings

(B)  Withdrawal of capital

(C) Introduction of additional capital
(D)  Opening balance of capital

12. Assertion (A): In a partnership firm, at the time of admission, the new
partner brings in an agreed amount of capital either in
cash or in kind.

Reason (R): In a partnership firm, at the time of admission, the new
partner acquires the right to share the assets and the
profits of the partnership firm.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.

(D)  Assertion (A) is correct, but Reason (R) is incorrect.

13. () On 15t January, 2023, Abhishek, a partner, advanced a loan
of ¥ 3,00,000 to the firm. In the absence of a partnership
agreement, the amount of interest on the loan for the year ending

315t March, 2023 will be : 1
(A) T 18,000
(B) < 4,500
(C) < 9,000
(D) No interest will be provided
OR
(i1)  If a partner withdraws a fixed amount at the end of each quarter,
interest on drawings will be charged for months. 1
A 9 ® 7=
2
© 6 ® 45
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1Tl el [ETa &1 9T a9 $ad &1 T3 a1 & 3R T 5397 T8I 14 97

15 & 3T s |
foos wa fmm & ®H W WRER 9 qM 3:2 % UM H AW-EIN
H foueH w9 | 1 3, 2022 H IR Y HEM: T 8,00,000 AT
T 4,00,000 off | 1 S, 2022 H fo@s® T 2,00,000 FH Affed IS @R
T4 o SRH fodss 1 AW T 40,000 AT, Sefeh 21 T AT T 80,000 o7 |
TSGR THEA & THER, ISl W 6% A1 @@ & 191 feon Jmwm | 37 «
5% aT¥eh o ¥ =I5 YT foham ST | 81 |T=H, 2023 w1 AT &8 o1t 99
% ToT 3¢ @ <1 TRT T 6,50,000 o |

14. 9= 5 1w | = < qisn s

(A) T 2,000 (B) T 1,000

(C) T 4,000 (D) T 4,800
15. foo 1 ¢ St W =S B0

(A) T 48,000 (B) ¥ 60,000

(C) T 57,000 (D) T 24,000

16.  SATY AT Y AR & AT 2 : 1% U H I-gI 1 favem &6td 8 | =aq
1 TH T GEER % ®9 F oy § i wiT % ot wa femn T S sE 3
TAT 9T | FUSH-SSR AT § T ohan | AT, S 97 =a- 1 1 o9

ECISERCE IR IR
(A) 13:5:6 B) 13:2:1
(C) 2:13:5 D) 1:1:1

17. (%) Wi, =& qon fafenm e w4 § d9ER 9 qd1 3:2:1 % UM H
A T fawSE wd ¥ | 31 A, 2023 I Wdle BH § HATHET 8
T | 9 3R fafmn 3 folg foan 6 98wl G = 6,30,000 B0
HariHe = fafer 1 = 3R fafmn o4& @ aft gemEsE % 9weEr
U T 4,35,000 TAT T 1,89,000 T T I € ® A | WA g
BH T TS AW aTelt g hl aredieh T AT Irg YA hl ST ATel!
e Ui <kl TUET HINT | 3TTewres UsHm=n Sfafseat ot i |

YT
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Read the following hypothetical situation and answer Questions No. 14 and 15

on the basis of the given information.

Vivek and Nisha were partners in a firm sharing profits and losses in the
ratio of 3 : 2. On 15t April, 2022, their capitals were ¥ 8,00,000 and
T 4,00,000 respectively. On 15t July, 2022, Vivek introduced additional
capital of ¥ 2,00,000. During the year, Vivek’s drawings were I 40,000
while drawings of Nisha were I 80,000. As per the partnership
agreement, interest on capital is allowed @ 6% p.a., interest on
drawings will be charged @ 5% p.a. The net profit for the year ended
315t March, 2023 amounted to ¥ 6,50,000.

14. The amount of interest on drawings of Nisha would be : 1
(A) T 2,000 (B) < 1,000
(C) < 4,000 (D) < 4,800

15. Interest on capital payable to Vivek will be : 1
(A) T 48,000 (B) < 60,000
(C) T 57,000 (D) T 24,000

16. Ashu and Basu are partners sharing profits and losses in the ratio of
2 : 1. Chetan is admitted as a new partner with Lth share in the profits

which he acquires equally from Ashu and Basu. The new profit sharing

ratio between Ashu, Basu and Chetan will be : 1
(A) 13:5:6 B) 13:2:1
(C) 2:13:5 D) 1:1:1

17. (a) Prateek, Charu and Sirima were partners in a firm sharing
profits in the ratio of 3:2:1. Prateek retired from the firm on
315t March, 2023. Charu and Sirima decided that the capital of the
new firm will be ¥ 6,30,000. The capital accounts of Charu and
Sirima after all adjustments on the date of retirement showed a
credit balance of ¥ 4,35,000 and ¥ 1,89,000 respectively. Calculate
the amount of actual cash to be brought into the firm or to be paid
to the partners. Also pass necessary journal entries. 3

OR
67/2/3-12 Page 13 of 39 P.T.O.
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(@) =m9, 969 YT AT TH BH H HEER 9 AT 3:2:1 % U H
-1 T faueH otd o | 3 ot gfd oY 39k T o YT ok Y I
=AW T 60,000 T T G T o |
31 HME, 2023 %I FHT ®H d6] 99 o U g AW HI ™
T 1,20,000 o |
HH ol Eiehl H HTSGRI % s A9-faHSH geIid g¢ STavdeh UsHmE
glefeeat Hifv |

18. WY, TV, 3Iqd ad1 Y= Th BH § HEGR 9 A7 3:2:4:1 % 9 H
ATHZIH T oI9S a9 | 1 310, 2023 & 380 ATH-RT i SRR
AT | Fied &1 fury form | 3eht fedrfa foawor = 1,00,000 1 9@ G99
T T@T AT | BH I BTN T e T 20,00,000 Topam = |
AT TIHSH TTITd H IREdE o hR0T I9YTh oh [T STEReh UeTH=T Tfafeear

T | 3799 1 sl TIear § sy |

19. (%) thfa fafies 3 e fafies & = 5,40,000 6t afEmfaat qen £ 1,20,000
Sl IATSAT T IR T 5,28,000 3 I YoI W fopar | SHifa fafes
et TR 1 PIAH Teh <eh GRT QT I TRT T PTAE T 100 TS 5
10% RO BT 10% Sftrem X it wwtes e |

3wt et & forg fife fefiee it geaent o stawaes Tsmmen gfafeeat
AL

YT

(@) wrq fafig 9 T 100 I&F & 4,000, 11% FOUAT I T 50 Ffd o9
e ® Frifd w0 % g stmaed smba ey | O ait @1 gmam
3MEEH W Q@ A1 | 5,000 O o folg 3TEe I 8T | 1,000 RO
% A i ' H eI T qUr e U 9u" Hd TE | I
3T hl FRUTTAT ST SATE L feam T |
g1q ferfiee <t g&aehl B Ut oiFeHl o foiu STraveres TeHm=n gfafseat
T |
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(b) Chaman, Burman and Aman were partners in a firm sharing
profits and losses in the ratio of 3:2:1. Aman was guaranteed a
minimum amount of ¥ 60,000 as his share of profit every year.

The net profit for the year ended 315t March, 2023 amounted to

T 1,20,000.

Pass necessary journal entries in the books of the firm showing the
distribution of profit amongst the partners. 3

18. Madhu, Raj, Atul and Prachi were partners in a firm sharing profit and
losses in the ratio of 3:2:4:1. With effect from 15t April, 2023, they
decided to share profits and losses equally. Their Balance Sheet showed a
General Reserve of ¥ 1,00,000. The goodwill of the firm was valued at
¥ 20,00,000.

Pass necessary journal entries for the above on account of change in the
profit sharing ratio. Show your working clearly. 3

19. (a) Priti Ltd. purchased assets worth < 5,40,000 and took over
liabilities of ¥ 1,20,000 of Payal Ltd. for a purchase consideration
of ¥ 5,28,000. Priti Ltd. paid half the amount by cheque and the
balance was settled by issuing 10% Debentures of ¥ 100 each at a

premium of 10%.

Pass necessary journal entries for the above transactions in the
books of Priti Ltd. 3

OR
(b)  Dhatu Ltd. invited applications for issuing 4,000, 11% Debentures

of T 100 each at a premium of ¥ 50 per debenture. Full amount
was payable on application. Applications were received for
5,000 debentures. Applications for 1,000 debentures were rejected

and application money was refunded. Debentures were allotted to

the remaining applicants.

Pass necessary journal entries for the above transactions in the
books of Dhatu Ltd. 3
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20. 1 37, 2023 I HEE AAT TR hI B Hl T&deh T 9,00,000 1 FHEEaRT
oot @ off fSEd = 32,000 € 9T T 1,68,000 T S W FioAferd o1 |
AER o Yol @I T 6,00,000 T I 53N @ & 3TN Gwh! 1 TRT 61 999
o | Afg AT T T ATTHA X 8% & AT HH hi BTN T HedTeh ATl
o 5 dul o I & YT W T 4,00,000 a1 71 B, O BH o NEd A4 I

3T <hIfST |

21. Afefd, 1 wd aut s wH H @reigr off 9o 3 :2:5 % ITU H ATY-EIH

faure st off | 31 7, 20238 1 3T fefd foeor 7 TR & o

31 UTH, 2023 @i fefd, ¥ va awt 1 feorfa foemo

gt o 6,00,000
Jfefa 5,00,000 e 3,00,000
T 4,00,000 i 1,00,000

EL| 3,00,000 | 12,00,000 | ¥¢=zq 1,50,000
= =g 1,00,000 | TER 2,50,000
GG 2,00,000 | U 1,00,000
15,00,000 15,00,000

31 I8, 2023 I I HI I & TS | fordt AEER H g7 W AR THA

T f=1 1 grage o
() et W= 6% anfies g @ feam smom |

(i) H H T A Yo U 9fa aul & of|d @i % 39U o

o SMER W fpan Smem, St T 90,000 & |

(i) g 1 Tafer T W 31e@T & | 99 o6 WRT 6T TUET TR W ST
W H AW | 31 AN, 2023 H THG B O 99 1 TIsha
T 60,00,000 T AT 1 31, 2023 & 31 JeI18, 2023 % T 15,00,000

o | 31 WM, 2023 ! THTA BH ol 99 sl @19 T 12,00,000 T |

Ul o IAUTHTT I T L oh TTC IuT I ISi QAT IR HIT |

67/2/3-12
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20. On 15t April, 2023, the books of the firm of Kashish and Sagar showed
assets of ¥ 9,00,000 including cash of ¥ 32,000 and bank balance of
T 1,68,000. The partners’ capital accounts showed a balance of
< 6,00,000 and reserves constituted the rest. If the normal rate of return
is 8% and the goodwill of the firm is valued at ¥ 4,00,000 at 5 years
purchase of super profits, find the average profits of the firm. 3

21. Aditi, Renu and Varsha were partners in a firm sharing profits and losses
in the ratio of 3 : 2 : 5. On 315t March, 2023 their Balance Sheet was as

under :
Balance Sheet of Aditi, Renu and Varsha as at 315t March, 2023
Liabilities Amount | ) sets Amount
< <

Capitals : Buildings 6,00,000
Aditi 5,00,000 Machinery 3,00,000
Renu 4,00,000 Stock 1,00,000
Varsha 3,00,000 | 12,00,000 | Patents 1,50,000
General Reserve 1,00,000 | Debtors 2,50,000
Creditors 2,00,000 | Cash 1,00,000
15,00,000 15,00,000

Varsha died on 315 July, 2023. The partnership deed provided for the
following, on the death of a partner :

1) Interest on capital was to be provided @ 6% p.a.

(i1)  Goodwill of the firm was to be valued at 3 years purchase of
average profits of the previous five years which were ¥ 90,000.

(iii) Varsha’s share of profit or loss till the date of death was to
be calculated on the basis of sales. Sales for the year ended
318t March, 2023 amounted to ¥ 60,00,000 and that from
18t April, 2023 to 315t July, 2023 amounted to ¥ 15,00,000. The
profit for the year ended 315* March, 2023 was ¥ 12,00,000.

Prepare Varsha’s Capital Account to be rendered to her executors. 4
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22.

23.

24.

3R R ffes T 8,00,000 i 31ferpd Yoit o &1 USiieha off, ST T 10 T
% 80,000 THar /I H fowrfora off | A 9 ST | 40,000 THAT
37 /3R o foTu, e7rdeq seatfaa fope | g o791 /3R afst g yeer & < oft
A W - %5
JTET W - T3
TUW Tg AfH I=AT W~ WA
i gl w9 @ sifyea gem qun wwt o7 TREl urd X S 8 haw HE ®
ST 2,000 3T/ BIghL B T ATeA qAqT Ire=T THT T8 et |

T AfUFEE, 2013 3T FTGHT 101, WIT I & IR w6 fRufaq foawo o

391/ 3R doft gwiise | 3Eeh forg ‘@mdl & Hied’ ot R Hifv |

frafafgq @edt & forw ot & frime w sraws vemEn faftest

i

(i) Heal fafig 3 T 100 Y% & 10,000, 11% TG &1 fFHT 10% 2
T fema, fSeept sem 5% it w foran smom |

(ii) Ffga s 97 T 100 &% & 20,000, 9% FOHAT HI FHT 5%
Hiftrem w fora, fSept w109 Nftem 9w foman smam |

(i) gfea fAE 3 T 100 I % 30,000, 8% FUTTHAT I FHIHT THIT T
Topa, foreemt em 5% Wftem 9 foma ST |

Mt TR |t hl wreer) B & foees w fafie gt (s W@ o6 39 5

TR ) AT STRI AT ! T G H TAFTARA i o 9=, HHTeTRad

AT o TTT 3Tavaes UeHmg=n fafsedt shifr

(i) M 9 TFERI % T 40,000 % @ % fofw qui fae™ % €9 # T 34,000
T YT R |

(i) 9ml F 319 gl % T 80,000 % VT o PTAH % T wEgmld € |

(iii) TP YUHT IR o & T&aeshi ¥ U1 €9 & dfaiRaa &t fem mn
o | F§ FIAM oAl T foh 3R T 3,000 <l wgelt Bl | 58 et 4
ITIATHA qod | 20% A T o o |
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22,

23.

24.

67/2/3-12 Page 19 of 39 P.T.O.

RR Ltd. was registered with an authorised capital of ¥ 8,00,000 divided
into 80,000 equity shares of ¥ 10 each. The company offered to the public
for subscription 40,000 equity shares. The amount per share was payable

as follows :
On Application - <5
On Allotment - T3
On first and final call — Balance

The issue was fully subscribed and all amounts due were received except
the allotment and call money on 2,000 shares allotted to Seema.

Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to

Accounts’ for the same.

Pass necessary journal entries for issue of debentures for the following
transactions :

1) Suhavo Ltd. issued 10,000, 11% Debentures of ¥ 100 each at a

discount of 10%, redeemable at a premium of 5%.

(i1)  Mudit Ltd. issued 20,000, 9% Debentures of ¥ 100 each at a
premium of 5%, redeemable at a premium of 10%.

(iii) Sudip Ltd. issued 30,000, 8% Debentures of ¥ 100 each at par,

redeemable at a premium of 5%.

Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Sharma and Verma after the
various assets (other than cash and bank balance) and outside liabilities
have been transferred to Realisation Account :

(1) Sharma paid creditors ¥ 34,000 in full setllement of their claim of
T 40,000.
(i1)  Verma agreed to pay his wife’s loan of ¥ 80,000.

(iii) There was an old typewriter which had been written off completely
from the books. It was estimated to realise ¥ 3,000. It was taken

away by Verma at the estimated price less 20%.




(iv) T JUHT T1eeh el A, & T 1,500 % @Td i Td 99 Gad =0T o &9
T feIiga o feam = o, 389 Ui % 80% 1 YA o T |

(v) ¥ 8,000 fareres == =1 YA vl gy foham T |

(vi) ¥ 40,000 I IEA HT T ! IW qAT A o S 3T A9 fG9H
IUTE 3 : 2 H faafa =t feam mm |

25. (%) TS AT WS T BH H HIECR 9 qAT 3:2 o AU H TH-ZIH I
fauTe &t 9 | 31 U, 2023 w1 3T fEufd e 9 R @ o
31 W, 2023 i TS AAT W] o1 Terfa feremor
IS I TF AT 80,000
g5 1,40,000 RN 1,32,000
S 1,20,000| 2,60,000 | faf=m 60,000
A= o 40,000 | SR
TER 1,80,000 | =T — Gfere =oni
% fqu sm@a™ 4,000 72,000
S ° Uhs 1,36,000
4,80,000 4,80,000
1 394, 2023 1 A H %m%mﬁmﬁmmﬁmmaﬁwﬁ
o yawr fezm e
i)  HHARR T T 6,000 h eIGE AR ST |
(i)  faf=mT =61 e T 72,000 fopam m |
(iii) T9F TG AMAE I T AT 79 A 30 AH-faweH I | o
fora |
(iv) 3gd AUIfeh USil o @fd i & 39 v % ®9 H°
T 10,000 TG QT |
g T TUT |IRIERI & Yot @I IR hifu |
T
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(iv)

(v)
(vi)

25. (a)

67/2/3-12

Neelu, an old customer whose account for ¥ 1,500 was written off

as bad debt in the previous year, paid 80% of the amount.

Dissolution expenses amounting to ¥ 8,000 were paid by Sharma.

Loss on realisation ¥ 40,000 was to be distributed between

Sharma and Verma in their profit sharing ratio 3 : 2.

Sanju and Manju were partners in a firm sharing profits and
losses in the ratio of 3 : 2. Their Balance Sheet on 315t March, 2023

was as follows :

Balance Sheet of Sanju and Manju as at 315t March, 2023

Liabilities Amount | 4 ccets Amount
Capitals : Plant and Machinery 80,000
Sanju 1,40,000 Furniture 1,32,000
Manju  1,20,000| 2,60,000 | Investments 60,000
General Reserve 40,000 | Debtors 76,000
. Less : Provision
Creditors 180,000 1 1 doubtful debts 4,000 72,000
Cash at Bank 1,36,000
4,80,000 4,80,000

On 18t April, 2023, Uday was admitted into the firm for %th share

in profits on the following terms :

) Furniture was to be depreciated by ¥ 6,000.

(i1)

(iii)

their profit sharing ratio.

(iv)

Investments were valued at ¥ 72,000.

share of goodwill premium in cash.

Plant and Machinery was taken over by Sanju and Manju in

Uday will bring in proportionate capital and ¥ 10,000 as his

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

Page 21 of 39

P.T.O.




VeV

(@) U, a9 T AW Th BH § AIHER & TAT 5 : 3 : 29k G H ATH-FIH 1
fawTem td 9 | 1ot SR % SR 9 31 A7, 2023 W HH G FaTHIA
g T | g faty o e feufa foemor e g g o

31 WTH, 2023 i I, T qAqT TR 1 et forawon

T T

g Tt gt 1,20,000

fa 80,000 ik 1,60,000

@ 1,24,000 G 2,00,000

ESinyl 66,000 2,70,000 | TETEA UHS 80,000
ATH T FIH 1,70,000
EXErR CEREID] 20,000
TR 1,00,000

5,60,000 5,60,000

(i)  oFel § T 4,000 H Wb TR Gffera oft, frgent e T foman
ST |

(i) <eR W Efey ot % fu 5% w1 YEa™ e s |

(iii) H I TN T Jearehd T 1,60,000 foham T |

(iv) TRl T &1 ged T 5,000 3Teh 9 T |

(iv) O q1 910 % AL 2 : 3 ¢ AT-FIHSH 3T W HEAld g8 |
(vi) T =l g7 TR 39 RO WA § AN bl ST |
Ty 6 Aaghia W gcaTeR WIaT qe1 |Rieii & G @ IR Rl | 6
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Ravi, Tanu and Sara were partners in a firm sharing profits and

losses in the ratio of 5 : 3 : 2. Ravi retired from the firm due to his

illness on 315t March, 2023. The Balance Sheet of the firm on that

date was as follows :

Balance Sheet of Ravi, Tanu and Sara as at 315t March, 2023

Liabilities Amount |\ gcets Amount
Capitals : Fixed Assets 1,20,000
Ravi 80,000 Stock 1,60,000
Tanu 1,24,000 Debtors 2,00,000
Sara 66,000 | 2,70,000|Cash in hand 80,000
Profit and Loss 1,70,000
Employees’ Provident Fund 20,000
Creditors 1,00,000
5,60,000 5,60,000

Additional Information :

) Creditors included a sum of ¥ 4,000 which was not likely to

be claimed.

(i1)) A provision of 5% for doubtful debts was to be created on

debtors.

(iii)  Goodwill of the firm was valued at ¥ 1,60,000.

(iv) Fixed Assets were found overvalued by I 5,000.

(v)  New profit sharing ratio of Tanu and Sara was agreed at 2 : 3.

(vi) The amount due to Ravi was transferred to his loan account.

Prepare Revaluation Account and Partners’ Capital Accounts on

Ravi’s retirement.
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26. ()

67/2/3-12

ffeiaa feufaat o o7 /2RRT & &1 3R 3k qA: e i smavaesh

WWW

() ®WRrR fafies 3 = 100 9@ & 8,000 3=/ w1 5=
10% Siftrem w frifaa fopam mam on, = 40 wfa smw/ser (Sfiftem
gigd) <l 3MeeT TR 941 T 30 Tid 37/ hHl IUH Ir=AT i
PIAH T S W, FOT K form | T 20 Ui 3m1/3Rr it Tt wa
JAfam I nft a6 Al 9E TS oft | S | 6,000 3TN /IR
I T 70 Ui 3T9/IRR, T 80 Ygd W YA: Fwiftra =t fezm mam |

(i) iR fafiee 3 T 10 @ & 3,000 390/ T BT HL
o 9 @ = 3 gl o791/3RR 6 oW Fr=ET 1 yTaE T8 e
T 3R T 2 fd 3w/IR Hi fgdw wa Afam amer anft 9
Tl &l S oft | I @ 2,000 /A= HI AT H T 12 i
/IR, T 8 Ygd W YA: Friftra =Kt fezm mam |

YT

St fAfids 9 T 10 I8 & 40,000 M /AT I T 2 Tfd /M &+
Hftem w frifd @ % e sder smaba fee | ofy = yer @ 29
off

T W — T 4Yfq 3T/IR
AT W — ¥ 5Yfq 31/ (Hfem afza)
TH AT T — T 29fd /W

fedie v S1foq I=AT W - oW

60,000 371/ T 3Telgd 9T gT | 12,000 A/ % fow
SIS ! @ L T T qUT 3TTaeeh] bl Ieh! TR G199 L & T8 |
48,000 37301/ o 3TMegehl el UGS YR T 3730 /IRR I
AATEeA R feam T | 3mded Wy 31fafn Uikt 1 HHEISH 3TEeT W
o Uiy o o feam |

Tt STIYTERT /IR 3 A& URT 1 YIad L e, had T
AT /IR T BlgH ™TET 1,200 3790 /390 & o smeed fean
U7 | HTEH & U 1¢ IHeh 3TN /I T &1 L fofa T | 39 971G
TUH IrEET /N TS qeT qUi <F U T & g | fge e stfaw e
anft o Tt A&l TS oft |

St fafiee s gEashi § ST ol o fTq 3TTawesh UsHTH= Sfafsear

i |
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(a)

(b)

67/2/3-12

Pass necessary journal entries for forfeiture and reissue of shares

in the following cases : 6

1) Star Ltd. forfeited 8,000 shares of ¥ 100 each issued at
10% premium for non-payment of allotment money of ¥ 40
per share (including premium) and first call of ¥ 30 per
share. The second and final call of ¥ 20 per share was not
yet called. Out of these, 6,000 shares were reissued at ¥ 80
paid up for T 70 per share.

(11))  Premier Ltd. forfeited 3,000 shares of ¥ 10 each on which
the first call of ¥ 3 per share was not received and the
second and final call of ¥ 2 per share was not yet called. Out
of these, 2,000 shares were reissued to Gita at ¥ 8 paid up
for ¥ 12 per share.

OR
Zee Ltd. invited applications for issuing 40,000 shares of ¥ 10 each

at a premium of ¥ 2 per share. The amount was payable as follows :

On Application — T 4 per share
On Allotment — T 5 per share (including premium)
On First call — T 2 per share

On Second and Final call — Balance
Applications were received for 60,000 shares. Applications for
12,000 shares were rejected and money returned to the applicants.
The shares were allotted on pro-rata basis to the applicants of
48,000 shares. The excess money received on application was
adjusted towards sums due on allotment.
All shareholders paid the allotment money except one shareholder
who had applied for 1,200 shares. His shares were forfeited
immediately after allotment. First call was made thereafter and all
the money due was received. The second and final call was not yet
made.

Pass necessary journal entries for the above transactions in the
books of Zee Ltd. 6
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U @
oo - 1
(Torfrar feramott =1 fergeimoD)

27. ISR ST o 3TN w1 AR HH % fIW T 5,00,000 T A TR
3R AUV o &g T 30,000 T AT YT FoRAT |” 39 TG 1 INOMH BFTT ;1
(A) T nfafafer @ = 4,70,000 Tshsg 1 dfgais
(B) oo nfafaferni & < 4,70,000 The 1 F<aig
(C) Toxita nfafaferai @ = 4,70,000 Uk 1 HA<arg
(D) e wfafafert & = 4,70,000 ke 1 Sfgaia

28. (i) HYTI: T o FEA 1 GROMH Uehs T JT=AdiE BT |
FYTI] : TIha13T ol AN T 5 Tl RO o FET BT IO

TS 1 Sfgalg a0 |
frafafga & 9 92t fashen &1 =@ Fifve . 1
(A) S % T B |

(B) <Ml ¥ Teid & |
(C) YA 198 2 9 HYF 11 7Td 2 |
(D) HYT ITeId g 947 A [T &8 2 |

rera
(i)  ‘Tospa-ama Sfafaet =1 T1g S 1 Tehg JaTg faator T &1 J9E 81 2 1
(A) I3 Y9G &l

B) Toxita nfafafemn @ sfqare
(©) Trem wiafafrn @ afeais
(D) Tocira wiafafmi @ afgats
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PART B
OPTION -1
(Analysis of Financial Statements)

27. ‘Paid ¥ 5,00,000 to acquire shares in Neligare Industries and received a

dividend of ¥ 30,000 after acquisition.” This transaction will result in :

(A)
(B)
(C)
(D)

28. ()

(i1)

67/2/3-12

Cash outflow from financing activities ¥ 4,70,000
Cash inflow from investing activities ¥ 4,70,000
Cash inflow from financing activities ¥ 4,70,000
Cash outflow from investing activities ¥ 4,70,000

Statement I : Issue of Debentures will result in inflow of cash.
Statement II : Issue of Debentures to the vendors for purchase of
machinery will result in outflow of cash.
Choose the correct option from the following : 1
(A) Both statements are correct.
(B) Both statements are incorrect.
(C) Statement I is correct and Statement II is incorrect.
(D) Statement I is incorrect and Statement II is correct.
OR
What will be effect of ‘Purchase of Marketable Securities for Cash’
on Cash Flow Statement ? 1
(A)  No effect
(B) Inflow from financing activities
(C)  Outflow from investing activities
(D)  Outflow from financing activities
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29. YR fAMRE F1 =7 ogu@ 2: 17 | Fffad # 9 fpd TiHed & FiomTeasy
Ig I M ?
(A) TFERI I T 40,000 T TAH
(B) WiieR ! foshd (T&T qed T 38,000) hadl T 16,000 |
(C) T 7,00,000 % Creehlcha 30T ST AT
(D) TN € T 1,18,000 TG TehAd ohT

30. () To=fafega g 9 sH-an foacfia foeon & fovawer’ = s e 737 2 2
(A)  H I A9 AYEdl T Y= HREHdT b1 IdT T |

B) wH I foxita fafa & fofir doesi & anfas mew =1 fHarom
T |

(C) FeA-ERT qREdHl & I9Td &l &H | W@ |
(D) H <hl evvear/foxita feufa o sSeem & ron S gg=H HET |

rerE

(ii) I ITFA-SAT 3T o 910 & ot 1 A 8
(A) =T AU
(B) @& U@

(C) Thel o1y SFIUTd
(D) Y= STITA

31. ot rfufem, 2013 i STHE 111, Wi 1% AR f=faRea wel ot e
% feufs foeo 4 ger i wa susfidst (afe =€ &) & srfa affea
Hif
i)  IEA
(i) a3
(iii)  3TGd AT
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29.

30.

31.

Current Ratio of Super Ltd. is 2 : 1. Which of the following transactions

will result in decrease in this ratio ? 1
(A) Payment of ¥ 40,000 to creditors

(B)  Sale of furniture (book value ¥ 38,000) for ¥ 16,000 only

(C) Repayment of long term loan of ¥ 7,00,000

(D)  Cash collected from debtors ¥ 1,18,000

(1) Which of the following is not an objective of ‘Analysis of Financial

Statements’ ? 1

(A) To assess the current profitability and operational efficiency
of the firm.

(B) To ascertain the relative importance of different components
of the financial position of the firm.

(C)  To consider the impact of price level changes.

(D) To identify the reasons for change in the profitability/financial

position of the firm.
OR

(i) is also known as Acid-Test Ratio. 1
(A)  Current Ratio
(B)  Quick Ratio
(C)  Gross profit Ratio
(D)  Operating Ratio
Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(1) Livestock

(i1) Accrued incomes

(iii) Unpaid dividend
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o

32. Tr=fcifiad =1 9 ‘Ga AW ATUTA <h! TUMT HINT

-
T ¥ 3H 10,00,000
i 3,00,000
3T WISl 60,000
ELE] 1,18,000
TBlau § =i 40,000
Tl JTaEHl 20,000
LER 50,000
33. (%) TWHfaRad =1 & 31 7=, 2023 3l TH g Tt F9 oh 7T JoTeH®
Y T B faeror I Hifsw
2022 — 23 | 2021 - 22
e
(%) (%)
e 8 3 4,00,000 2,00,000
I I 80,000 40,000
HHAR A =T — J=ToH J
AT T 50%
L S 50%
Ao

(@) fmfcfed g @ 31 W€, 2023 1 TH & 9t 99 & fore, =0
fafiee =1 am= R @y wa g1 faewor’ QR HifSw

fyga 202(2? : 23 202(1? ; 22
T § 3T 40,00,000 | 20,00,000
SR GTdA T 63 4,00,000 | 2,00,000
I = 40,000 20,000
R 50%
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=
Revenue from operations 10,00,000
Purchases 3,00,000
Carriage inwards 60,000
Salaries 1,18,000
Decrease in inventory 40,000
Returns outwards 20,000
Wages 50,000

From the following information, prepare Comparative Statement

From the following information calculate ‘Gross Profit Ratio’ :

of Profit and Loss for the year ended 315 March, 2023 :

Employee benefit expenses — 50%
of Revenue from operations

Tax rate 50%

Particulars 2022 — 23 | 2021 — 22
icu

(%) (%)
Revenue from operations 4,00,000 | 2,00,000
Other income 80,000 40,000

OR

Prepare a ‘Common Size Statement of Profit and Loss’ of Neurosci
Ltd. for the year ended 315t March, 2023 from the following

information :
Particulars 202(2_;5 23 202(1_;5 22
Revenue from operations 40,00,000 | 20,00,000
Purchase of stock in trade 4,00,000 2,00,000
Other expenses 40,000 20,000
Tax rate 50%
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34. 319m, 2023 % Fu fafies & Fafataa Rufa faeor 8 serem nfafafes
Y Uehg JTE <hl TUHET HIfNT ;

31 |, 2023 ! [y fefaee w1 feafa feerom

r— ﬂhz 31.3.2023 | 31.3.2022
9. (%) (%)
I - |HAT T qFaT
1. Wures /e i
() /2T it 6,00,000 5,50,000
(@) d=99 wd i 1 1,50,000 1,00,000
2. 379 <FAW
(%) QEHRH IR 2 1,20,000 85,000
3. =T qFdrg
() AT I 89,500 1,02,000
(@) AUl JEgH 3 25,000 38,500
E3d 9,84,500 8,75,500
II - gty ;
1. 3r=d uiEwaEt
() Tl uferafaat /o,
THTe qAT TIF AT I
m:(attr%a? potee |
1 ’
® :gm e a’?ia/ 4 5,35,000 4,25,000
(ii) Td TREF T 5 20,000 56,000
2. 9Te uiEraEt
() = Frem 1,20,000 75,000
(@) v 64,500 60,500
(M) TR g 85,000 71,500
("F) Uhg T Uhg oo 1,60,000 1,87,500
E3 9,84,500 8,75,500
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34. From the following Balance Sheet of Nishant Ltd. as at 315t March, 2023,

calculate ‘Cash Flows From Operating Activities’.
Balance Sheet of Nishant Ltd. as at 315t March, 2023
Particulars Note | 31.3.2023 | 31.3.2022
No. (%) (%)
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 6,00,000 5,50,000
(b) Reserves and Surplus 1 1,50,000 1,00,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2 1,20,000 85,000
3. Current Liabilities
(a) Trade Payables 89,500 1,02,000
(b)  Short-term Provisions 3 25,000 38,500
Total 9,84,500 8,75,500
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets/Property, Plant
and Equipment and Intangible
Assets
O Tt ssstrons, | 4| sssom| azsoo
(i1)) Intangible Assets 5 20,000 56,000
2. Current Assets
(a) Current Investments 1,20,000 75,000
(b) Inventories 64,500 60,500
(c) Trade Receivables 85,000 71,500
(d) Cash and Cash
Equivalents 1,60,000 1,87,500
Total 9,84,500 8,75,500
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Grdl & 7129 :
qre 31.3.2023 | 31.3.2022
9. e T T
1 | 999 U i
TR aterfa aTa-ET e % 9 1,50,000 1,00,000
1,50,000 1,00,000
2 | deeRTeld 3UR
10% 19 1,20,000 85,000
1,20,000 85,000
3 | 3TcUhIelH Jrag™
EXRCRIE] 25,000 38,500
25,000 38,500
4 | o uiEEafaEr /awt, e aen g9
o3 6,35,000 5,00,000
T — THEA o8 (1,00,000) (75,000)
5,35,000 4,25,000
5 | 3Td qiEwatal
EEIIN] 20,000 56,000
20,000 56,000
S7fars =T

() A0 % U W W, RrEehl | < 12,000 off 3T S W = 8,000
%1 ThId JeIg™ o1, T 3,000 § o= fgzm m |

(i)  10% FOYA W T 8,500 o TS HT YA fohaT T |
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VeV

Notes to Accounts :

Note Particulars 31.3.2023 31.3.2022
No. (%) (%)
1 | Reserves and Surplus
il;;‘f};}:u; ni(.ieil]:;slance in Statement of 1,50,000 1,00,000
1,50,000 1,00,000
2 | Long-term Borrowings
10% Debentures 1,20,000 85,000
1,20,000 85,000
3 | Short-term Provisions
Provision for Tax 25,000 38,500
25,000 38,500
4 | Tangible Assets/Property, Plant and
Equipment
Machinery 6,35,000 5,00,000
Less : Accumulated Depreciation (1,00,000) (75,000)
5,35,000 4,25,000
5 | Intangible Assets
Goodwill 20,000 56,000
20,000 56,000
Additional Information :
) A piece of machinery costing ¥ 12,000 on which accumulated
depreciation was ¥ 8,000 was sold for ¥ 3,000.
(ii))  Interest paid on 10% Debentures amounted to ¥ 8,500.
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CINRC)
foreew - 10
(erfireRfors TrEie)
27. TYC AThel hl el M Afehel A ot i it UfshaT hgard! 2

(A)  3ThST TehafTehtu
(B)  3lehgl Fam
(C) TSI ARt
(D) TSl I fhoet HET

28. (i) Tr=fafga # 9 =9 & TF 9k & €9 1 L AGA’ bl AN
(A) TH ooig o1 = W fowga foawon v feurfa s 2 |
(B) W W ITifad ST God i TR Hohd hidl 8 |
(C) = % i SAfneT ey 3T AR 1 forega foramor <ar 2 |
(D) = % faU Tk GuiaTeRes T B |
HAYAT

(i) e dTfcheh A H feoha dTfcheh Hoal ohl Sfarse feRarm <11 Feha & 2

(A) 525
(B) 552
(C) 255
(D) 15
29. 3Mishs, AN , AT AiFeAI ATThleT @ aF & T
g |

TR TR TF h -8 T ITYH HUH T I @ ?
(A) RIS TF BTERR B) fiiex wa widfig
(C) W39 Ud S&held (D) |I1 T@ @
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PART B
OPTION -11
(Computerised Accounting)

27. The process of comparing input data with some unknown data is called :
(A) Data storage
(B)  Data entry
(C) Data validation
(D) Data filter
28. (1) From the following, identify a ‘Data label’ as a chart element :
(A)  Details and positions a legend on the chart.
(B)  Indicates the individual value plotted on the chart.
(C)  Details the data value and categories below the chart.
(D) Is a descriptive text for the chart.
OR
(ii)) How many logical values can be entered into a logical function ?
(A) 525
(B) 552
(C) 255
(D) 15
29. ‘Data, people , and software are five pillars of a
Computerised Accounting System (CAS)’.
Which of the pillars of CAS are missing from the statement ?

(A)
(C)

67/2/3-12

Procedures and Hardware (B) Printer and CPU

Mouse and Desktop (D) Information and Accounts
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30.

31.

32.

33.

34.

(i) @R g1 Jorelt o Toshd U9 W @Td 39ad (HfaiRad W 9 foheeh
1Y AER Hd © ?
(A) kg 3I9aA i Wt T WPTaH &
B) Tara @aEE @ Tl &1 @@l v T 39 WP d

(C) IcuTfed SxqaTl &l AN 9al &+ 9

(D) TCRI % YaH T d
HAYAT
(i) T 9d 9 (Null Value) Th a9 3 gt & S Wi &t & -
(A)  FAThST HE HT Thel de3 1
(B) Tofte 9oy & @y A &t
(C)  3ffeher Hel i AR 6
(D)  THHA (SHT) G

I &% ISR Hl dcad hl 901 374 2 ? I8 fpE TR fopan ST &ehal & 2
HHATIU |

AT T@TRT Juredl hi fereal 9 HiH1eT o1 oot hifoy |

(%) TG Tk § FAT AT & 2 3Hoh STLRYT =0 hl T SHRT |
HAAAT

(@) T BHERT F1 R 2 T fou T T I B L & foru T @i
AT TR ST 8 2

T & T3 T W SHANT Siad T B! ¢ & AN Hd gL TH (1)
1 G L o T I [AREY &1 H 3T =1 = A6 T 10,000 & 3H4eh
g, @ 10% s=d 3R Il 3 T 10,000 ¥ A &, dl 5% §&d | INOMH
Te-fo=mE 1 ot fafau |
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30.

31.

32.

33.

34.

(1) ‘Sales and Accounts Receivable Sub-system’ of Accounting

Information System deals with which of the following ?

(A)  Receipt and payment of cash sub-system

(B)  Recording and maintaining the sales ledger and receivables
(C)  Ascertaining cost of goods produced

(D)  Purchase and payment to creditors

OR

(i1) A Null value is a special value which represents :
(A) Single value data item
(B) Item with many values
(C)  Absence of data items
(D)  Stored value

What is meant by ‘resizing of chart’ ? How can it be done ? Explain.

State any three limitations of Computerised Accounting System.

(a)  What is meant by Accounting Cycle ? List its basic phases.
OR

(b)  What is ‘data formatting’” ? What tools are used to format a given

data ?

Write the steps to create ‘If” function using formula tab and dialogue box
on a given spreadsheet where the total income less expenses if greater
than ¥ 10,000 then 10% savings and if income is less than ¥ 10,000 then

5% savings. Also write the syntax of the result.
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